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QUESTION 1

How many invalid test cases can be identified from the "Route Calculation" state table provided? You may assume all
actions are different and independent. [K3] 3 credits

A.6
B.8
C. 102
D. 12

Correct Answer: A

QUESTION 2

A car navigation system needs to be integrated in the overall car software. Interoperability testing is thus considered to
be important. Which of the following techniques is most likely be used to support interoperability tests? [K2] 1 credit

A. Equivalence Partitioning
B. Statement testing

C. Vulnerability Scan

D. Defect Taxonomies

Correct Answer: A

QUESTION 3

Based on the classification tree show below, how many test cases are required using the classification tree method?
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Colour Shape
Red Blue Green Triangle Circle

Size of triangle
..—-‘-'--_ _-“"-—-
Small Large

[K3] 2 credits
A.2
B.3
C.4
D.6

Correct Answer: B

QUESTION 4

During the test execution defects are found on non-compliancy to requirements, calculations that produce incorrect
results, and improper handling of data or situations. Which of the following test types is most likely being performed?
[K2] 1 credit

A. Usability testing

B. Interoperability testing

C. Accuracy testing

D. Suitability testing

Correct Answer: C

QUESTION 5

Consider the following description in a defect report "Nasty bug trashed contents of new file that | created by formatting
some text in symbol font, wasting my time."

Which TWO of the following comments would you immediately make based on the defect description above? [K4] 3
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credits, 1 out of 2 correct 1 credit

A. Needs to be neutralized

B. Steps to reproduce are unclear

C. No attempt to isolate the defect

D. More than one defect in one report
E. Possible duplicate

Correct Answer: AB
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